317

FLANGE LIFTER

FLVK

2-M8R &25

|
N ! !
| AL ‘
[7)Is
58 -I“IZ
‘ ®®
=
LY Lo ¢
'_f L il I
__:___'__ =2y
[
i
o] |
(&]
| | @
|
‘ <
._|___|__
[ I |
| ] | 4-$11
b 1
el
©)
s |
45 O] @ 85
No. B ) wEwE No. & ¥ 24 HHEwE
1 | FAILATL—hK 1 | SO#50F 9 | AARMRIE 4 | M6x16
2 | 7YINTL—h 1 | Steel 10 | RARFRIL S 4 | M8x20
3 | a77L—h 1 | Steel 1 | RAETUFARIL S 2 | M8x25
4 | 72U 2 | Steel 12 | REFFRIL S 2 | M8x45
5 |U787L—h 1 | Steel 13 | A7 1 | $8x45
6 | AN—4 1 | Steel 14 | A7Y T Ty o+ 4 | M8R
7 |\ I7IIVE 1 | SMC#! (¢ 40) 15 | Tyv 2 | M8Fl
8 |BE> 1 | $3x40

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

50 190 100 160

FLVK 75 215 125 185

‘Catalog No. H S ‘

FLVK 75

o ANA—7EEDER
SZF+G
S 7S PYTEOANA—Y
F:75>o>J0ANI—Y
GIR#B (omm ERIAA T ZZLY)

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

318





